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11
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1443686
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1443686
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1443686
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1443686
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1443686
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-1443678
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-1443676
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-1443670
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-1443668

-1443667

-1443666

-1443665

-1443664

-1443663

-1443662

-1443661

Subtraction Table for 1443680
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31
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1443686

14436¢ =

1443686

14436¢ =

1443686

14436¢ =

1443686

14436¢ =

1443686
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1443686
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1443686
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1443686

14436¢ =
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14436¢ =

1443686

14436¢ =

1443686
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1443686
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-1443659

-1443658

-1443657

-1443656

-1443655

-1443654

-1443653

-1443652

-1443651

-1443650

-1443649

-1443648

-1443647

-1443646

-1443645

-1443644

-1443643

-1443642

-1443641
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-1443639

-1443638

43

44

45

46

47

48

49

50

14436¢ = -1443637

1443686 -1443636

14436¢ = -1443635

1443686 -1443634

14436¢ = -1443633

1443686 -1443632

14436¢ = -1443631

1443686 -1443630
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